The group G is isomorphic to the group labelled by [ 42, 6 ] in the Small Groups library.

Ordinary character table of G = C42:

la Ta 7b 7f 21h 211 6a 42b 42c 42d 42e 42f 60 42g 42h 42i 425 42k 421

x1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

X2 | 1 1 1 1 1 1 1 -1 -1 -1 -1 ~1 -1 ~1 ~1 ~1 -1 -1 -1 ~1

xs | 1 1 1 1 1 E E(3)? E E(3)? E(3) E(3) E(3) E(3) E(3) E(3) E(3)? E(3)? E(3)? E(3)? E(3)? E(3)? E(3)?

xa | 1 1 1 1 1 E E(3)? E E(3)? —-E(3) —E@3) —E(3) —E(3) —E(3) —E(3) —-E(B3) —-E3)? -E@B)? -E@B)? -EB)? -EB)?* -E@3)? -E@3)?

x5 |1 1 1 1 1 E E(3) E E(3) E(3)? E(3)? E(3)? E(3)? E(3)? E(3)? E(3)? E(3) E(3) E(3) E(3) E(3) E(3) E(3)

xo | 1 1 1 1 1 E E(3) E E(3) -E3)? -E(3)? -E3)? -E3? -EQ3? -E(3)? -E@3)? -E@B) -E@3) —E(3) —E(3) —E(3) —E(3) —E(3)

xr |1 E((T) E(7)? E(N* ET)® E(7)° E BE(7)? E E(7)8 1 E(7)? E(7)3 E(T)* BE(7)5 E(7)5 1 E(7) BE(7)? E(7)3 E(7)4 E(7)5 E(7)5

xs | 1 E( E(7)? E(M* E(T)?° B(7)8 E E(7)? E E(7)8 -1 -BE(71?*  -E(7)? -—-EM* -ET° —ET° ~1 —E(7) ~-E(71? -ET)? —-EM* -—ET> —EB(T7)S

xo | 1 E( E(7)? E(N* E(T) B(7)° E( E(21)%0 E(21 B2t 3 6 E@) 10 pen® B B E(21) E@2D*  E(3)2  ECDY  E(21)2° E(21)2 E(21)% E(21)8  E(21)Y

xwo| 1 E( E(7)? E(M* E(T)? E(7) E( E(21)%0 E(21)° E(21)1 —E(7)? —-B(1)% —E(@3) O BB —EB(21)6 —EB@RDY  —E(21) —-E21D* —-E3)? —-EBQ2DYT —-E@21* —-E(21)2 -E(21)° -E(21)® —-E(21)!"

x| 1 E( E(7)? E(M* E(T)°> BE(7)° E( E(21)13 E(21)1° E(21)4 )3 )6 3)2 7 B(21)2°  E(21)2 E(21)% E(21)8  EQDHY  E@B) ECDY  EE2DHB E(21)C EQ1)¥ E(21) E(21)*

xi2| 1 E(T) E(7)? E(N* ET)® E(7)° E( E(21)'3 E(21) E(21)* —E(7)3 —E(7)8 (3)2 T —E(21)2  —E(21)2 —E(21)° —E(21)8 —-E@QDY —E@B) —E@2D —E@21® —EB@21)' —E@21)Y -—E(21) -—E(21)*

xis| 1 E(M?2 EBE(7)* E E(T)? E(7)° E E(7)* E E(7)5 )6 )? 1 2 E(7)* E(7)° E(7) E(7)3 E(7)5 1 E(7)? E(7)4 E(7)5 E(7) E(7)3 E(7)5

xuu| 1 E( E(7)* E E(7T)® E(7)° E E(7)4 E E(7)° —EB(7)¢ —-EBE(7° -1 2 —E(M* —E()S —E(7) —-E(7)? —E(7)° —1 -E(7)? —-EMN* -—ET° —E(7) —-E(7? —E(7)°

x5 | 1 E( E(7)* E E(7)3 E(7)° E( E(21)° E(21 E(21)8 2 )6 ¥ E(3) 1B peDY B B2 B(21)16 E(21) E(3)2  E21?*  E(21)  EQHYT BT E(21)? E(21)%

xie | 1 E( E(7)* ) E(7)3 E(7)° E( E(21)° E(21 E(21)8 —E(7)? —E(7)¢ —-EBE(7)> —E(@3) )13 2 —p@1)* —E@QDP —E@RDY —E(21) -E3)2 —-EQ21* —E(21)° —-ECDHY —EQDY —E(21)2 -—E(21)8

xir| 1 E( E(7)4 E E(7)3 E(7)° E( E(21)' E(21 E(21) )2 )6 o E(3)? 20 g1  EEHY  EC@DY  E(21)2 E(21)8 E3) ECDY¥  ECHY  EQD* B E((21)' E(21)

xis| 1 E( E(7)* E E(T)? E(7)° E( E(21)1? E(21 E(21) —E(7)? —E(7)8 —E(7)> —E(3)? )20 —E((21)5 —E@DY —ECEDYT  —E(21)2 -E(21)8 -EB) —-E@2DB —E@2DY —B21* —E@21D0 —E@21)'C —E(21)

xio| 1 E( E(7)° E E(T) E(1)* E E(7)8 EBE(7 BE(7)4 E(7)3 E(7)? BE(7)4 1 3 E(7)8 E(7)? E(7)° E(7) E(7)* 1 E(7)3 E(7)8 E(7)? E(7)° E(7) E(7)4

x0| 1 E(T)3 EBE(T)° E E(T) E(7)* E E(7)8 E(7 E(7)* —E(7)3 —E(7)? —E(N* -1 ¥ —E(M® —E(M? —E(1)’ —BE(T) —B(N)* —1 —E(1)® —E(MS —E(M? —EB(TS —ET7)  —E7)*

xo1 | 1 E( E(7)8 E E(T) E(7)* E(2 E E(21)1 E( E(21)° )3 )2 ¥ E(3) 16 B E(21)1 E(21) EQDY B EB)?2 E(21)2 EQHY  EBRDH* ER2DE EEDY  E(21)°

x22 | 1 E( E(7)5 E E(T) E(T)* E(2 E E(21)1 E( E(21)° —EB(7)3 —E(7)? —-BE(N* —E@3) 6 —E21* —EQ2DHP —EB(21) —-EQDY —EDY —-E3)2 —-E(21)2 —-EQDHY —E2D* —-E(21)® —-EQ2DY -—E(21)°

x2s | 1 E(7)® E(7) E E(7)  E(7)* E(2 E E(21)* E E(21)" )3 )2 o E(3)? 2 EBEDM EQD® E(21)® EQDYT  E(21)5  E@)  E@QDY B BB E(21) EQDY  B21)Y

xoa | 1 E( E(7)° E E(T) E(M* E(2 E E(21)* E E(21)1° —EB(7)3 —E(7)? —-E(7)* —E(3)? 2 —E@RDY —EB(21)2° —E((21)® —-EC2DYT —-E(21)° —-E3) —-EQ2DY —-E@D* BB  —E21) —-EBDY —p@DY

xes | 1 E(M* E(T) E(7)> E(T)° E(1)° E E( E(7) E E(7)? ) )° Pl Y B B(IY BT BT BT 1 E(M* B E(T°  ED?  ED° B}

x| 1 E( E(7) E E(S E(7)3 E B( E(7) E BE(7)3 —E(7)* —E(7)° —E(1)® -1 ¥ —E(1) —E(1)® —E(MN? —E(MNS —BE(7)3 —1 —E(N* —E(T) —BE(M’ —E(M? —BE(75 —E7)3

xer | 1 E( E(7) E E( E(7)3 E(2 E( E(21)17 E( E(21)2 ) )° ¥ E(3) v p21)10 E(21) E@2DHB  E@D*  EBQDC  EB)?2 E(21)°  EQDYT  ERDE® EQD* EEDHY E(21)?

xos | 1 B( E(7) E E(NS E(7)3 E(2 BE( E(21)'7 BE( E(21)2 —E(7)* —E(7)° —E(7)* —E(@3) )19 (D0 —E(21) -E@21)B —E@21)* —-EQDY —E(3)2 -E(21)° -E@21)Y -—E(21)® —-EQD® —EQDY —E(21)2

x20 | 1 E( E(T7) E E(S E(7)3 E(2 E( E(21)1° E( E(21)'6 E(7)* E(7)5 E(T)®  E(3)? 5 EBERDY  E(1)® E@QD®  E@QDYM  E(21)2  E@)  EQDY  E@EQDP  E21)  EQDH®  EQD* B(21)

xs0 | 1 E( E(7) E E( E(7)3 E(2 E( E(21)10 E( E(21)'6 —E(7)* —E(7)° —-E(7) —E(3)? )5 —E@RDY —E((21)® -E(21)*° —-E21H" -E(21)) -E@B) -E2DY —-E2DY -—F21) -E2HB —-E@21)* —E(21)

xa1| 1 E(M E(T)° E E(N* E(7)? E( E E(7)3 E BE(7)? )3 E(7) )2 1 5 E(7)3 E(7) E(7)5 E(7)4 E(7)? 1 BE(7) E(7)3 E(7) E(7)5 E(7)* BE(7)?

xs2 | 1 E(T)° E(T)3 E E(N* E(7)? E( E E(7)3 E BE(7)? —E(7)° —E(T7) —E(1)? -1 ) —E(M)? —E(1) —E(NS —E(M* —E(7)? —1 —E(T —E(M? —E(T) —E(TS —E7* —E7)?

xa3 | 1 E( E(7)3 E E( E(7)? E(2 E( E( E(21)? E( E(21)%0 )3 E(7) 2 E(@3) ) EC2DS  EpeDHI  EERD* EEDHY  ECDHY¥®  EB)?  E(21)3 E(21)?2  EQDYT  EQDHY  E(21)°>  E@2D*®

xaa | 1 E( E(7)3 E E(N* E(7)? E(2 E( B( E(21)2 B( E(21)20 —E(7)° —E(T7) —E(7)2 —E(@3) 1) (1) —E@EDO —E@21)* —-EQDY —-EQDB —E@3)2 -E(21)®* —E((21)2 —-EQ2DY —E@QHY —E21)° —E(21)%

xss | 1 E( E(7)3 E E( E(7)? E(21 E E( E(21)'6 E E(21)'3 )8 E(7) E(7)?  E(3)? 8 E@21)2  EDHY  EeHY  E(21)> B2 E@3) E(21) ECHY B BT EEHY BB

xs6 | 1 E( E(7)3 E E( E(7)? E(21 E E( E(21)'6 E E(21)'3 —E(7)° —E(7) —E(7)* —E(3)? ¥ —E(21)2 —-EL'7 —-EC2LHYM -—-E(21)° -E(21)* -—-E@B) -E(21) -E@2DY% —-p2DHP —Ep@LH* —-E2DY? —FB@DH!

xsr | 1 E(TS EB(7)° E BE( E(7) E BE( E(7)5 E(7) E(7)5 E(7) E(7) 1 6 E(7)5 E(7)* E(7)3 BE(7)? E(T7) 1 E(7)8 BE(7) E(7)* E(7)3 BE(7)? E(7)

xas | 1 E( E(7) E E( E(7) E E( E(7)° E(7) —E(7)¢ —EB(7)* —E(7) -1 ¥ —E(M>  —-EBE(M* -E(M)? —E(7)? —E(7) -1 -E(71¢ -E(MT® —-EM* -ET® -—EBE(7)? —E(7)

xso | 1 BT E(7)° E BE( E(7) E E(2 E(21)8 E(21)'7 E(7)5 E(7)* E(T)  E(3) 4 E(21)  E@2DY  E@2D®  EeH® EBEDO  EB)?Z EQDHY EB21)®  E(21)®  E(21)*  EQD®  EQDHY

x| 1 E( E(7)° E E( E(7) E E(2 E(21)8 E(21)'7 —E(7)¢ —E(7)* —E(7) E(3) ¥ —EB(21) —-E2DY —-E@2DS —-E2DHY¥ —-E2DY —E3)2 —-EQHY —-E(21)® -E21)° -E@21)? -EQ2D* —E@2DY

xa1| 1 E( E(7)° E E( E(7) E E E(21) E(21)'0 )6 E(7)* E(7) 3)2 I p(21)8 E(21)° E(21)2  E@2D*  EB2DY  E@3) E(21)* E(21) E@HY B BB B2

x| 1 E(MS BE(7)° E B( E(7) E E E(21) E(21)10 —E(7)8 —E(7)* —E(7) (3)2 M —B(21)®  —E(21)5 —E(21)2 —-E@21)2 —E(21)Y7 -EB) -E2LD* -—E(21) -E21Y —EQ2D¥ —E(21)B3 —E(21)Y

Trivial source character table of G = C42 at p = 3:

Normalisers V; Ny Ny
p-subgroups of G up to conjugacy in G = P,
Representatives n; € NN; a Ta b Tc 7d Te 7f 2a 14a 14b 14c 14d 14e 14f la T7a 2a 7 Tc 7d 14c Te 7f 14e 14f
1-x1+0-x2+1-x3+0-xs4+1-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19 + 0 x20 +0- X30+0- X34 +0-x35+0- 3 3 3 3 3 3 3 3 3 3 3 3 3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O0-x1+1-x24+0-xs+1-xa+0-x5+1-x6+0- X13+0-x14+0-x15+0-x16+0- X19 + 0 x20 +0- x30+0- X34 +0-x35+0- 3 3 3 3 3 3 3 -3 -3 -3 -3 -3 -3 -3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x2a+0-x5+0-xg+1- X13 +0-x14 +0-x15+0-x16+0- X19 +0-x20 +0- X30 +0- X34 +0-x35 +0- 3 3xE(7T) 3xE( 3xE(7)3 3xE(M?* 3xE(T) 3xE(T)° 3 3% E(7) 3xE(7)?  3xE(7) 3xE(N*  3xE(M)> 3xE(M° |0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xs4+0-x5+0-x5+0- X13+0-Xx14+0-x15+0-x16+0- X19 +0-x20+0- x30 +0- X34 +0-x35+0- 3 3xE(7) 3xE( 3xE(7)3 3xE(M?* 3xE(T 3xE(7)° -3 =3xE(7) -3xE(71)? -3xE(T —3*xE(7)* -3%xE(7)® -3%xE(M°| 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0- X13+0-x1a+1-x15+0-x16+1- X19+0-x20+0- X30 +0- X34 +0-x35+0- 3 3xE(N? 3xE( 3xE(7) 3xE(7) 3xE(M? 3xE(7)° 3 3xE(T7)? 3%xE7)* 3%xE(7) 3xE(7)  3xE(7) 3xE()° |0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-x44+0-x5+0-x5+0- x13+1-x14+0-x15+1-x16+0- X109+ 0 x20+0- X30 +0- X34+ 0 X35 +0- 3 3xE(7T)? 3xE( 3xE(T)S 3xE(T) 3xE(M)? 3xE(7)° -3 -3xE(7)? -3xE(7)* -3xE(7° -3xE(7) -3xE(7)?® -3xE(7)°®| 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0- Xx13+0-x14+0-x15+0-x16+0- X19 +0-x20+1- X30+0- X34 +0-x35+0- 3 3xE(T) * B( 3xE(7)? 3%xE(T)® 3xE(M) 3xE(M* 3 3xE(7)>3 *E(7) 3% E(7) 3% E(7)° 3 E(T 3xE(N* | 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x54+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+1-x20+0- X30+0- X34 +0-x35+0- 3 3xE(T)? 3xE(T)S 3xE(M)? 3xE(M)° 3xE(7) 3xE(M* -3 -3xE(7)? -3xE(7)° -3xE(7)? -3xE(7)® -3xE(7) -3xE(M*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-x4+0-x5+0-x5+0- X13+0-x14+0-x15+0-x16+0- X19 +0-x20+0- Xx30 +0- X34 +0-x35+0- 3 3xE(T) 3xFE 3xE(7)° 3xE(T)? 3xE(M% 3xE(7) 3 3* E(7) 3% E(7) 3x E(7) 3% E(7) 3x E(7 3xE(7)3 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+0-x20+0- X30 +0- X34 +0-x35+0- 3 3xE(M* 3xF 3xE(7)° 3+xE(7)? 3xE(M% 3xE(7)3 -3 —-3xE(M* -3xE(T) -3xE()° -3xE(M)? -3+xE(M% —-3+xE(M)3| 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+0-x20+0- X30 +1- X34 +1-x35+0- 3 3xE(7)° 3xE( 3xE(7) 3xE(M® 3xE(M* 3xE(M? 3 3xE(7)° * B(7)3 3% E(7) 3% E(7) 3% E(7) 3xE(T)? | 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+0-x20+0- X30+0- X34 +0-x35+1- 3 3xE(T)° 3xE( 3xE(7) 3xE(M® 3xE(M* 3xE(7)? -3 -3xE(1)> -3xBE(7)? -3xE(7) -3xE(MN% -3+xE(M* -3xE(71)?]| 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0- x13+0-x14+0-x15+0-x16+0- x19 + 0+ x20+0- X30+ 0 - X34+ 0-x35+0- 3 3xE(T) x E( 3xE(N)* 3xE(7)? 3xE(T) 3x E( 3 3% E(7)° * B(7)° 3% E(7) 3x E(7) 3% E(7) 3x E(7) 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+0-x20+0- x30 + 0 - X34+ 0-x35+0- 3 3xE(T)°% 3xE( 3xE(T)Y 3xE(7)3 3xE(7)? 3xE( -3 =3xE(N% -3xE(71)5 -3xE(M* -3xE(T)® -3xE(71)? -3xE(7) |0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19 + 0 x20 +0- X30+0- X34+ 0-x35+0- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+1-x24+0-x3+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19 +0-x20+0- X30 +0- X34 +0-x35+0- 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 1 1 -1 1 1 1 -1 1 1 -1 -1
0-x1+0-x2+0-x34+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19 +0-x20+0- X30 +0- X34 +0-x35+0- 1 EBE(7)3 E(7) E(7) E(7)° E(7) E(7)* 1 E(7)3 E(7) E(7)? E(7)° E(7) E(7)* 1 E(M 1 E(7)S E(7)? E(7T)S  E(7)? (7 E(M*  E(T) E(7)*
0-x1+0-x24+0-x34+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+1-x20+0- X30+0- X34 +0-x35 +0- 1 EB(7)? E(7) E(7) E(7)° E(7) E(M* -1 —E(7)?3 —E(7)° —E(7)? —E(7)° —E(7) —EB(7)* 1 E(M? -1 E(7)S E(7)? E(7)5 —E(7)? (7 E(M* —E(7) -E(1)*
0-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19+0-Xx20+0- X30+0- X34+ 0-x35+0- 1 E(7)¢ E(7) E(7) E(7)3 E(7)? E(7) 1 E(7)8 E(7)° E(7)4 E(7)3 E(7)? E(7 1 E(MS 1 E®@)? E(7)* E(T)?  E(7)* E(7) E(7)? E(7)
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0- x13+0-x14+0-x15+0-x16 +0- X19 +0-x20+0- X30+0- X34+ 0-x35+0- 1 E(7)° E(7) E(7) E(7)3 E(7)? E(7) -1 —E(7)° —E(7)° —E(7)4 —E(7)3 —E(7)? —E(7) 1 E(M® -1 E(7)° E(7)* E(T)? —E(7)* E(7) —-E(7)?* -E(7)
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16 +0- X190 +0-x20+0- X30+0- X34 +0-x35+0- 1 EB(7)? E(7) E(7) E(7) E(7)3 E(7)° 1 E(7)? E(7)4 E(7)¢ E(7) E(7)3 E(7) 1 E(M? 1 E(7)* E(7)¢ E(T)  E(7)° E(T)°® E(M3  E(7)°
0-X14+0-x24+0-x3+0-x4+0-x5+0-x6+0- x13+1-x14+0-x15+0-x16+0- X19+0-x2040- X30+0- X34+ 0 x35+0- 1 E(7)? E(7) E(7) E(7) E(7)3 E(7)® -1 —E(7)? —B(7)* —E(7)8 —E(7) —E(7)3 —E(7® |1 ET? -1 E(7)* E(7)° E(T) —E(7)° E(T)> —E(1)* —E(7)5
0-x1+0-x2+0-x34+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X19 +0-x20+0- X30 +1- X34 +0-x35+0- 1 E(7)p E(7) E(7) E(7)° E(7)* E(7)? 1 E(7)° E(7)3 E(7) E(7) E(7)% E(7) 1 E(M 1 E(7)?3 E(7) E(MS  EB(7) E(M? E(M*  EBE(7)?
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16+0- X190 +0-x20+0- X30 +0- X34 +0-x35+0- 1 E(7)° E(7) E(7) E(7)8 E(7)% E(M? -1  —E(7)? —E(7)3 —E(7) —EB(7)8 —E(7)* -E(M? |1 ET® -1 BE(7)3 E(7) E(7)¢ —E(7) E(7)? —E(N)* —E(7)?
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1- Xx13+0-x14+0-x15+0-x16+0- X19 + 0 x20+0- X30+0- X34+ 0 x35+0- 1 E(7) E(7) E(T7) E(T)* E(7) E(7)° 1 E(7) E(7)? B(7)* E(7)* E(7)° E(7) 1 E(T) 1 ET)? B(7)° B(1)* B(7)° EM° BT B(7)°
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0- Xx13+0-x14+0-x15+0-x16+0- X19+0-x20+0- X30 +0- X34 +0-x35+0- 1 E(7) E(7) E(T7) E(7)* E(7)° EM° -1 (7) —B(7)? —B(7)? —B(7)* —E(7) —B(7)° 1 EBE(7) -1 E(7)? B(7)? B(7)* —B(7)? B(7)° —B(7)> —B(7)°
0-X14+0-x24+0-x3+0-x4+0-x5+0-x6+0- X134+ 0 x14+0-x15+0-x16+0- X194+ 0 x20 4+ 0+ X30+0- X34+ 0 x35+0- 1 BT E(7) E(7) E(7)? E(7)8 BT 1 E(7)* E(7 E(7)° E(7)? E(7)8 E(7) 1 EM* 1 E E(7)° E(71)?  E(7)° E(T? E(S  E(7)3
0-x1+0-x2+0-x34+0-x4+0-x5+0-x6+0- X13+0-x14+0-x15+0-x16 +0- X19 +0-x20+0- X30 +0 - X34 +0-x35+0- 1 B E(7) E(7) E(7)? E(7)° E(M? -1  —B((7)! —E(7) —E(7)° —E(7)? —E(7) —E(7)3 1 E(M* -1 E(7) E(7)° E(7)? —E(7)° E(M)? —E(M° —EB(7)3

Py = Group([()]) 21
P, = Group([(3,4,5)]) = C3

Nl = GTOUp([(l,
N2 = GT’OUP([(l,




